145~—v | FRMETS(2) | & | 1/4
T = 3U COSV
{ Sy,
Y = 2uSInv
Ty = 3COSV, Ty = —AUSINV
Yy = 28IV, Y, = 2UCOSV
= N i
J = 2,Yy — TpYy = 61 cos® v + 6usin®v = 6u




145 ~—v | FRFETS(2) | fRE | 2/4

BRI D NA LD, 140 _—3 74
dxdy = |J|dudv = |6u|dudv = 6ududv

DZRTAEXNLY u=0
F AR B,
)

2 + y? = 9u? cos® v + 4u? sin” v
= (5cos® v + 4)u?



R HE 7.8(2)

fi

/i
2

3/4

%) drdy = // (5 cos” v+4)u” - 6ududyv

o rl
—6/ </(50082?J+4)u3du
o LJo

(5cos” v + 4)dv

\

/

> dv




145 ~—v

ORI 7.8(2)

=y
i
N

3

2

2m
/ (5cos” v + 4)dv
0

2T -
/(-
0 2

D

2

(

.+ CoSs

1
+ —sin 2
U 281H U

>+4v

2T

4~— AF1.3(2)
2
7 | 4) dv




